Label.

Properties.

%&

Product data sheet
02.10.2025

Tool set for Mercedes-Benz cars

TCS 3026 Mercedes Benz

Product no. 97830208
GTIN 4018754272617
Model TCS 3026 Mercedes Benz

POOR®OD®
SECECR X *R0)
O®O

Tool set for Mercedes-Benz cars TCS 3026 Mercedes Benz 306 pcs.

» safely integrated in the modular Tool Control System (TCS)

Contains 306-pieces:

96830166

10 double-ended ring spanners No. 20: 6 x 7; 8 x 9; 10x 11;12x13; 14 x 15; 16 x 17,
18x21;19x22;24x27;30x32mm

96830353
10 double open-ended spanners No. 10: 6 x7; 8 x9; 10x 11; 12x 13; 14 x 15; 16 x
17,18x21;19x22;24x27,30x32mm

96830608
4 circlip pliers No. 6543-6546: J2; J21; A2; A21

96831609
6 combination ratchet spanners No. 17: 8; 10;12;13; 17; 19 mm

96833415

3 nut spinners No. 12506: 6; 7; 8 mm

3 nut spinners No. 12507: 8; 10; 13 mm

1 combination pliers No. 6700: L. 180 mm

1 telephone pliers No. 6730: L. 160 mm

1 water pump pliers No. 6551: L. 240 mm

1 side cutters No. 6720: L. 140 mm

2 heavy-duty side cutters No. 6721: L. 180; 200 mm

96833416

3 slotted screwdrivers No. 4620: 0.6 x 3.5 x 75; 0.8 x 4.0 x 100; 1.2 x 6.5 x 150 mm
2 slotted screwdrivers No. 4621: 0.5 x 3.5 x 90; 1.2 x 8.0 x 160 mm

1 electrician's slotted screwdriver No. 4628: 0.4 x 2.5 x 60 mm

3 PH cross-head screwdrivers No. 4630: PH1; PH2; PH3

9 TORX® screwdrivers No. 4650: T6; T7; T8; T10; T15; T20; T25; T27; T30

4 TORX® screwdrivers long No. 4650L: T15; T20; T25; T30

1 slotted screwdriver No. 4724: 1.0 x 5.5 x 25 mm

1 PH cross-head screwdriver No. 4734: PH2



Product data sheet
02.10.2025

96833417

19 combination spanners No. 13: 6;7;8;9;10; 11;12; 13; 14;15; 16; 17,19, 21; 22;
24; 27; 30; 32 mm

4 double-ended ring spanners TORX® No. 21TX: E6 x E8; E10 x E12; E14 x E18; E20 x
E24

1 double-ended ring spanner No. 24: 10 x 11 mm

96833418

1 tyre lever No. 39 PKW: L. 400 mm

2 flat chisels No. 102: W. 17; 23; L. 150; 200 mm
1 centre punch No. 105: @ 10 mm

5 pin punches No. 108: @ 3; 4; 5; 6; 8 mm

1 dead blow hammer No. 10959: @ 35 mm

1 engineer’s hammer No. 10961: 500 g

1 lever bar No. 11006: L. 400 mm

1 magnetic lifter No. 12600: 3000 g

96833419

1 L-Key set TORX® No. 10766/8: T9; T10; T15; T20; T25; T27; T30; T40
1 L-Key hex No. 10767H/9: 1.5; 2; 2.5; 3; 4; 5; 6; 8, 10 mm

1 L-Key TORX® No. 10769: T45

96833420

2 IMPACT sockets with bi-hex 1/2" No. 50D IMP: 32; 36 mm

2 IMPACT wheel nut sockets with hex 1/2" No. 2309IMP K: 17; 19 mm
1 screwdriver socket XZN® 3/4" No. 59X: M18

1 sliding head for T-handle 3/4" No. 556: L. 61.5 mm

1 handle No. 558: L. 510 mm

1 precision feeler gauges, 20 blades No. 11095: 0.05-1.00 mm
1 wire brush No. 12374: Trim length: 140 mm

1 gasket scraper No. 12718: L. 265 mm

1 caliper No. 12900: Measuring range: 150 mm/6"

1 tyre-tread caliper No. 12900/3: Measuring range: 0-30 mm
1 tape measure No. 12935: L. 3 m

1 self-grip wrench No. 6564: L. 250 mm

96833442

12 sockets with hex 1/4" No. 40: 4; 5;5.5;6;7;8;9;10;11;12; 13; 14 mm
5 screwdriver sockets TORX® 1/4" No. 40TX: E4; E5; E6; E7; E8

3 screwdriver sockets slotted 1/4" No. 41K: 0.6 x 3.5; 1.0 x 5.5; 1.2 x 8 mm
5 screwdriver sockets INHEX 1/4" No. 44K: 3; 4; 5; 6; 8 mm

2 screwdriver sockets PHILLIPS® 1/4" No. 44PH: PH1; PH2

2 screwdriver sockets POZIDRIV® 1/4" No. 44PZ: PZ1; PZ2

1 drive handle 1/4" No. 400N: L. 150 mm

1 T-handle 1/4" No. 404: L. 116 mm

2 extensions 1/4" No. 405: L. 54; 150 mm

1 universal joint 1/4" No. 407: L. 38 mm

1 square drive adaptor No. 409: 1/4 to 3/8"

1 bit holder 1/4" No. 412: L 25 mm

1 ratchet 1/4" No. 415-2K: L. 117 mm

1 bit ratchet 1/4" No. 415B-2K: L. 117 mm

3 sockets TORX® 3/8" No. 45TX: E10; E12; E14

10 sockets long, with bi-hex 3/8" No. 46: 10; 11;12; 13; 14;15; 16; 17; 18; 19 mm
10 uniflex sockets with bi-hex 3/8" No. 47: 10; 11;12; 13; 14; 15; 16;17;18; 19 mm
2 screwdriver sockets TORX® 3/8" No. 49TX: T40; T4b

3 extensions 3/8" No. 427: L. 76; 160; 240 mm

1 universal joint 3/8" No. 428: L. 46 mm



Product data sheet
02.10.2025

1 square drive adaptor No. 431: 3/8 to 1/4"

1 square drive adaptor No. 432: 3/8to 1/2"

1 ratchet 3/8" No. 435-2K: L. 193 mm

1 bit holder 3/8" No. 442: L. 32 mm

12 sockets with hex 3/8" No. 456: 10; 11;12; 13; 14;15;16;17; 18; 19; 21; 22 mm
1 bit holder insert tool 1/4 " No. 736/10: 9 x 12 mm

1 bit holder insert tool 5/16" No. 736/10: 9 x 12 mm

2 bits POZIDRIV® 1/4" No. PZ 1221, PZ 1222: PZ1; PZ2

5 bits TORX® No. 1410-1427:T6; T7; T8; T9; T25

7 bits TORX® No. 1440-1446: T10; T15; T20; T25; T27; T30; T40
5 bits XZN® No. 1350-1359: M4; M5; M6; M8; M10

96833460

21 sockets with bi-hex 1/2" No. 50: 10; 11; 12; 13; 14;15; 16; 17; 18; 19; 20; 21, 22;
23; 24; 26, 27; 28; 30; 32; 34 mm

5 sockets TORX® 1/2" No. 50TX: E11; E16; E18; E20; E24

9 screwdriver sockets INHEX 1/2" No. 54:5; 6; 7;8;10;12; 14;17; 19 mm
4 screwdriver sockets INHEX 1/2" No. 54KK: 6; 7; 8; 10 mm

3 screwdriver sockets TORX® 1/2" No. 54TX: T50; T55; T60

5 screwdriver sockets XZN® 1/2" No. 54X: M8; M10; M12; M14; M16

1 T-handle 1/2" No. 506: L. 300 mm

1 extension 1/2" No.509: L. 130 mm

3 wobble drive extensions 1/2" No. 509W: L. 52; 130; 255 mm

2 QuickRelease extensions 1/2" No. 509QR: L. 52; 130 (2 x) mm

1 universal joint 1/2" No. 510: L. 71 mm

1 ratchet 1/2" No. 512-2K: L. 265.5 mm

1 square drive adaptor No.513: 1/2 to 3/8"

1 square drive adaptor No. 514: 1/2 to 3/4"

2 screwdriver sockets XZN® 1/2" No. 2054X: M8; M10

2 screwdriver sockets XZN® 1/2" No. 3054X: M12; M14

Technologies and features.

\y

Tool Control System

The intelligent modular inlay system protects and organises the tools in tool boxes, tool
trolleys and workbenches. Two-colour foam inlays make checking the completeness of
the tools quick and easy.

QuickRelease

The QuickRelease safety lock prevents unintentional loss of insert tools. These click
securely into place, and are only released again at the push of a button for a quick tool
change. In transducers: The QuickRelease safety lock helps you to quickly mount and
change transducers. The transducers lock into the calibration system and only unlock
again at the push of the buttons.



Technical attributes.

Number of tools

Logistics data.

Depth mm (IFS)

Width mm (IFS)

Height mm (IFS)
WEEE/ElektroG

Length (packaged, mm)
Width (packaged, mm)
Height (packaging, mm)
Volume (packaged, dm3)
Product no.

Weight (gross, kg)
Weight PAP (kg)

Weight PVC (kg)

GTIN

Country of origin AWR
Region of origin

Customs tariff no.

Packing standard
Weight (g)

Product data sheet
02.10.2025

785

605

450

nicht ear-pflichtig
785

605

450

213.71625 dm3
97830208

46,000

2,000

0,000
4018754272617
GERMANY
Nordrhein-Westfalen
82060000

1

43000¢g

Parts list.

96432603 96432200 77371004 77371001
Hex ball-ended L-Key TORX® L-Key set Tyre-tread caliper Caliper
set

/\L- TR

77260200
Magnetic lifter

77090000
Wire brush

77040010
Tape measure

74240002
Precision feeler gauge



Product data sheet
02.10.2025

e — — S

74010401 72090002 72033101 70191035

Tyre lever Lever bar Gasket scraper Plastic hammer
Fw: —

70110011 70070006 70070005 70070004
Engineer's hammer Pin punch Pin punch Pin punch
70070003 70070002 70050005 70020005

Pin punch Pin punch Centre punch Flat chisel

| e

70020003 67301160 67211200 67211180

Flat chisel Telephone pliers Heavy-duty side cutter =~ Heavy-duty side cutter

67201140
Side cutter

65464121
Circlip pliers for
external circlips

67001180

Combination pliers

65454102
Circlip pliers for
external circlips

L

65642250
Self-grip wrench

&; h — =

65444121
Circlip pliers for
internal circlips

65516240
Water pump pliers

65434102
Circlip pliers for
internal circlips



58262610
Bit holder insert tool

"

46503130
TORX® screwdriver
DRALL+

-

46503030
TORX® screwdriver
DRALL+

-

46503015
TORX® screwdriver
DRALL+

- e

46503007
TORX® screwdriver
DRALL+

N

46303001
PH cross-head
screwdriver DRALL+

58261010
Bit holder insert tool

"

46503125
TORX® screwdriver
DRALL+

-

46503027
TORX® screwdriver
DRALL+

-— e

46503010
TORX® screwdriver
DRALL+

-— e

46503006
TORX® screwdriver
DRALL+

-— e

46283025
Electrician's slotted
screwdriver DRALL+

Y stanLwILLELD)
4734

Gr.02x 25

47341002
PH cross-head
screwdriver DRALL®

"

46503120
TORX® screwdriver
DRALL+

-

46503025
TORX® screwdriver
DRALL+

-— e

46503009
TORX® screwdriver
DRALL+

- e

46303003
PH cross-head
screwdriver DRALL+

—

46213080
Slotted screwdriver
DRALL+

Product data sheet
02.10.2025

YsranLwiLLee))
4124
1,2x8x25

47241060
Slotted screwdriver
DRALL®

 —
46503115
TORX® screwdriver
DRALL+

-

46503020
TORX® screwdriver
DRALL+

- e

46503008
TORX® screwdriver
DRALL+

- e

46303002
PH cross-head
screwdriver DRALL+

_———

46213035
Slotted screwdriver
DRALL+



L omc

46203065
Slotted screwdriver
DRALL+

43233130
Nut spinner

e —

43103207
Nut spinner DRALL+

O ===

41251012
Double-ended ring
spanner

) 1O
41171313

Combination ratchet
spanner

e

¢

41081011
Double-ended open-
ring spanner, angled

46203040
Slotted screwdriver
DRALL+

43233100
Nut spinner

43103206
Nut spinner DRALL+

=== 0

41250608
Double-ended ring
spanner

Ve (O
41171212

Combination ratchet
spanner

PR -

41043032
Double-ended ring
spanner

46203035
Slotted screwdriver
DRALL+

43233080
Nut spinner

41252024
Double-ended ring
spanner

Y (O
41171919

Combination ratchet
spanner

Vel O
41171010

Combination ratchet
spanner

41042427
Double-ended ring
spanner

Product data sheet
02.10.2025

43293045
TORX® screwdriver

43103208
Nut spinner DRALL+

41251418
Double-ended ring
spanner

)

e

41171717
Combination ratchet
spanner

)

L0

41170808
Combination ratchet
spanner

41041922
Double-ended ring
spanner



41041821
Double-ended ring
spanner

41041011
Double-ended ring
spanner

40083030
Combination spanner

")\

< —

40082121
Combination spanner

i;/fz;z;zziz;;‘cy
40081515

Combination spanner

Q

40081111
Combination spanner

41041617
Double-ended ring
spanner

41040809
Double-ended ring
spanner

40082727

Combination spanner

41041415
Double-ended ring
spanner

41040607
Double-ended ring
spanner

Product data sheet
02.10.2025

41041213
Double-ended ring
spanner

40083232
Combination spanner

40082424
Combination spanner

40082222
Combination spanner

40081919
Combination spanner

J’ﬁw—\r
40081414

Combination spanner

‘J77

40081010
Combination spanner

40081717
Combination spanner

40081313
Combination spanner

- | = ()
S

40080909
Combination spanner

40081616
Combination spanner

=)

40081212
Combination spanner

O

40080808
Combination spanner



Product data sheet
02.10.2025

40080707 40080606 40033032 40032427
Combination spanner Combination spanner Double open-ended Double open-ended
spanner spanner

S ~
@m N\

40031922 40031821 40031617 40031415
Double open-ended Double open-ended Double open-ended Double open-ended
spanner spanner spanner spanner

40031213 40031011 40030809 40030607

Double open-ended Double open-ended Double open-ended Double open-ended
spanner spanner spanner spanner

23091019 23091017 23011036 23011032

IMPACT wheel nut IMPACT wheel nut IMPACT socket IMPACT socket
socket socket

or— um—
15170000 15070000 13111010 13070000
Bar handle Sliding head Ratchet Sliding T-handle

13030005 13030002 13020000 13011003
Square drive adaptor Adapter Universal joint QuickRelease extension



o @

13011001
QuickRelease extension

13010002
Extension

13010008
Extension w.wobble-
drive

12180026
Bit holder

12030001
Adapter

12020000
Universal joint

12010001
Extension

11070000
Sliding T-handle

11010002
Extension

11180010
Bit holder

— 8 =

11050010
Drive handle

11010001
Extension

13010007
Extension w.wobble-
drive

12111010
Ratchet

= =

12010003
Extension

11131011
Bit ratchet

Product data sheet
02.10.2025

13010005
Wobble-Drive extension

12030003
Square drive adaptor

e

12010002
Extension

o=

11111010
Ratchet

11030002
Square drive adaptor

08200013
Screwdriver bit

11020000
Universal joint

08200012
Screwdriver bit

10



Product data sheet
02.10.2025

== =0 =80 —

08200011 08200010 08200004 08160040

Screwdriver bit Screwdriver bit Screwdriver bit Screwdriver socket

08160030 08160027 08160025 08160020

Screwdriver socket Screwdriver socket Screwdriver socket Screwdriver socket
= GERIARY B |

4 )

08160015 08160010 08131025 08130009

Screwdriver socket Screwdriver socket Screwdriver bit Screwdriver bit

08130008 08130007 08130006 08050002

Screwdriver bit Screwdriver bit Screwdriver bit Screwdriver bit

08050001 05060018 03280010 03280008
Screwdriver bit Screwdriver socket INHEX socket INHEX socket

03280007 03280006 03270024 03270020
INHEX socket INHEX socket Socket Socket

11



Product data sheet
02.10.2025

03270018 03270016 03270011 03261414
Socket Socket Socket Screwdriver socket

03261412 03161208 03161110 03100060
Screwdriver socket Screwdriver socket Screwdriver socket Screwdriver socket

03100055 03100050 03060016 03060014
Screwdriver socket Screwdriver socket Screwdriver socket Screwdriver socket

03060012 03060010 03060008 03050019
Screwdriver socket Screwdriver socket Screwdriver socket INHEX socket

03050017 03050014 03050012 03050010
INHEX socket INHEX socket INHEX socket INHEX socket

03050008 03050007 03050006 03050005
INHEX socket INHEX socket INHEX socket INHEX socket

12



Product data sheet
02.10.2025

Socket Socket Socket Socket

03010024
Socket Socket Socket Socket

03010022 03010021 03010020 03010019
Socket Socket Socket Socket

03010018 03010017 03010016 03010015
Socket Socket Socket Socket

03010014 03010013 03010012 03010011
Socket Socket Socket Socket

03010010 02270014 02270012 02270010
Socket Socket Socket Socket

13



Product data sheet
02.10.2025

02110022 02110021 02110019
Socket Socket Socket Socket

02110017 02110014
Socket Socket Socket Socket

02110013 02110012 02110011 02110010
Socket Socket Socket Socket

02100045 02100040 02040019 02040018
Screwdriver socket Screwdriver socket UNIFLEX socket UNIFLEX socket

02040017 02040016 02040015 02040014
UNIFLEX socket UNIFLEX socket UNIFLEX socket UNIFLEX socket

02040013 02040012 02040011 02040010
UNIFLEX socket UNIFLEX socket UNIFLEX socket UNIFLEX socket

14



Product data sheet
02.10.2025

02020019 02020018 02020017 02020016
Socket Socket Socket Socket

02020015 02020014 02020013 02020012
Socket Socket Socket Socket

02020011 02020010 01300002 01300001
Socket Socket Screwdriver socket Screwdriver socket

01290002 01290001 01280012 01280010
Screwdriver socket Screwdriver socket Screwdriver socket Screwdriver socket

01280006 01270008 01270007 01270006
Screwdriver socket Sockets Sockets Sockets

01270005 01270004 01120008 01120006
Sockets Sockets INHEX socket INHEX socket

15



Product data sheet
02.10.2025

01120005 01120004 01120003 01010055
INHEX socket INHEX socket INHEX socket Sockets

01010014 01010013 01010012 01010011
Sockets Sockets Sockets Sockets

01010010 01010009 01010008 01010007
Sockets Sockets Sockets Sockets

01010006 01010005 01010004 96833419
Sockets Sockets Sockets Screwdriver set

96833416 96831609 96830608 96830353
Screwdriver set Combination ratcheting  Circlip plier set Double open ended
spanner set spanners i.TCS inlay

N\

96830166
Double ended ring
spanners i.TCS inlay

16



Product data sheet
02.10.2025

Variants.

Product no. Model No. (ERP) Description GTIN
TCS 3026 Tool set for Mercedes-Benz cars TCS
97830208 Mercedes Benz 3026 Mercedes Benz 306 pcs. 4018754272617
GTIN.
4 Hm 875427261 7H
Images.

17



Product data sheet
02.10.2025

iy )

|

]
4%

=N lsNoNaNaNaNS)
M@ @ & oY
- -0 @

O00 000Q
=M 000000000
000 220000060600

el Xe e Xo X e LX),

STAHLWILLE Eduard Wille GmbH
Lindenallee 27 - 42349 Wuppertal - Germany - Phone: +49 202 4791-0
info@stahlwille.de - www.stahlwille.com
© STAHLWILLE Eduard Wille GmbH, Wuppertal



